O
$=1/100
L
vooE
LL = Ok#E)
S=1/Free E_# 41 | @n
SECT12.0 KR 2.8 (2.8)
" eswn = 1| an
i FEES 0.3 | (-)
ES
(RRGHE (54 F) L=40 80 W=3.0n ﬁfzggﬁ 23 Eof’;
RARA 1.8 a.n
EEEYES 37 | a.m
15401 T 25O T
YL YhY-k7" o Yt
L:Z.ZI = IL:171 U4l A L=2.4 = 1.40 3.10
[P —
L=12.0
HIBER 1=12.0
6.0 6.0
pe pe o
g g & -
H
o
os 5
M " e
"
B = S0 nm
o
o == N e, \
|
py > £ - o) o)
! \\/ w\ 0L=535 00 _
— _ —
T KN O — g . ) Q
H-540. 000 g 2 — ey s TERI
— —_ 2 st0.44 2 < 7.2 ~ ol T o -
59,15 — , o N:Ed(l' 91 \' = Ok#E)
S o sig 10 eS0T o 4.0 o ey T i WA 40 | a.6
Ery "l - 3 e N - | N . SECT6. 0 ®__® 28 | 29
TR R /i AN R G538, 91 # R 11 fan
= CEEASS N / N~— T S 34 | ()
\ —— o o505 AEEE 0.9 | 0.9
osun3 o552 _— B EEER 3.1 (-)
EHIT. B KR103) — — ~ E2RE 17
EHL ¢ 400 N / JovoRk 35 | (1.5)
v/
s m/ 0.88 3.00
Ay 1] W
fit B m@
V=1/100 BIREE o 513 1 '
w0 H=1/250 L=12.0 7 S
—_— ™~
6.0 6.0 i
] o o N
- e © = 3
g g g N
| o)
7 [~ (=]
0.0 ’_I—'7 DL6%5.00 ~ _
—| (=]
: W=2.0
- //// —
_— ki)
7 AL | — 7] - WAl 36 | @
-_— SECTO0.0 K 3 2.7 2.7
- — —— 540,20 I [ )
_7;4 e P 03 | (-)
a — AEELE 09 | 0.9
- — 1 BLAEER 34 | (-)
WARE 15 | an
EEL |GRE) JOoyoH 32 | a.m
7 L=12. Om
7 ’ ‘¢§ﬂjﬂvﬁﬁl ‘
s | L=11. 4m 0. 60 3.00
) H TUNH’I‘ 15/4h0uT FTYFHT
1/250 25/AIET — A lf
oL = 530.00 &R
= ST 6
8 B e Pt e 5
ﬁ N + + + %ﬁ
+ + + REF K E1375
Ll T - .
# # # ERT BHNER (BRPRISEL
o = H H H —
K & : IE% TiE SREPRHE ERKEREIE
b = H H o =
= 5 HE# B oA HE
1B 0 26 # H
i ; n fEREAR &M 6 & A
DL=535. 00
4 5 M : e _ _
RER + + # R B R ‘ HEES 1/2
A A :
R 8 § ELaE HR=# HREMER
FREE E R W




$=1/100
REIGEZ)
12.0
6.0 6.0
S | o
S| =y =
& & 5
~
— N
- i -
- Lk
1
15/h0u1T 28/hOET
hER IOy ST
2.2 0.3 11.4 0.3 2.4
5.7 517
ol < o
5| = =
& & &
538.84 7 539.25
v 538. 30
=~
- © T
~ [N ™~ - |2
o |es S 1 1~
1Y ~ *
n| |»n
—
535. 96
535. 45 535.70
avyy— FERT
0.5 0.8 11.4 0.8 0.5
hZER T 0y ST
$=1/50
=
gl EARE
= RC-40

Ay —bERT

15/hALtET

$=1/100
0,30
%o [E2]
(== [==]
o o~
(=3 I ) 4
w0 [¥2)
S - St
1.43
1.23
(17 ZY)
# Al B Bify B =
0> — k| ock=18N/mm2 m3 1.171
B # m2 7.81
R[4 iz m2 1.1
avy)—FERT
(thZeif) $=1/20
avy)—+k
o ck=18N/mm2 i
o I3
o ™
<
S
(=3
=) ]
ERRR
RC-40 0! 690 0
890
(10m&Y)
iE oAl B BT H 2
3> — k| ock=18N/mm2 m3 1.875
B # m2 5.00
HERRA RC-40 m2 8.90
FYUMITT
S=1/50

BARE
(¢ 350M%%)

BRAIVYY -
o ck=18N/mm2

2&5/nO1ET
$=1/100
0,30
I .
=
[=2]
N o
o o
o~
8, -
o L
1.47
1.27
(17 HHY)
# B RO B H 2
225 y—r| oock=18N/m2 | m3 1.354
BB m2 9.02
LR m2 1.25
Xigaroy)—Fk
$=1/20
6‘50
(10m& Y)
#E B RO Bifiy H B
025 y—r| ook=1gN/m2 [ m3 0.325
O m2 1.00
ITEFER
$=1/100
Btaq47
4.0
.5 3.0 0.5
Bt EF
\ t=10cm
Q .
N e
N 2

3.29

0.5

Lt (55)

AIBRIES. OmkE
FEBE s-1/100

§ o
_ &
o
S
~N
T
T =
¢ 400 &
N i)
KELDS5EHE
I3
K Ry 7
8
54
8
54
o
<3
N
~ S
FEEOITD
AT ERIEW
P-Flﬁ 1] $=1/100
B+ S5
BRELICER "_'!
N
Z s S
= S

D@

REFK 1375

ERT BHETSE (GRPR25HEL)

I%4

WE BRPRR ERKERBAIE

H@E@a

® B

ERERAR

S 6 & A

B R

=2 ‘ HEES 2/2

2

ARz BEHR

EREL

E R W




	50高尾中央線（高尾中央2号橋上）設計図(1)
	51高尾中央線（高尾中央2号橋上）設計図(2)

